@ Znazorni na ¢iselné ose a najdi pranik InJ. sjednoceni JuJ a rozdily I-J, J-I intervala I, J pokud :
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J=(5.9)
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I=(-10;10}
J ={10;20)

I={-1;1}
J={0,5;1,2}
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I=(=w0;-10)
J=(-12:25)

I=(-8;-1)
J=(1;5)

I=(0;)
J=1(01;10)
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I J=(57)
T J=(2;9)
I—J=(2;5)
J—I={7;9)

IF‘\J=<E;10]
0

TwJ=(-10:12)

I—J=[—10;E]
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J—TI=(10;12}

TuJ=¢-15;12)

f—J:[E;uj
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J—f=<—15;—§>
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T~ 7 ={10}
TwJ=(-10;20)
I—J=(-10:10)
J—I=(10;20)

T~ J7={0,51}
TuJ=(-112}
I—J={-1;0,%)
J—TI=(1:1.2}

h)

i)

ImJ=(-12;-10)
TuJ=(—=;25)
I—J=(—=0;-12}
J—I={-10;25)

I—J=({-03;03}
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In/=0
TuJ=(-8;-1)w{l;5)
I—J=(-8;-1)
J—I=¢1;5)

I J=(0110)

T J=(0;x)
I—J=(0;0,130¢10;0)

J-I1=0



